Worksheet: Oxidation F\%Lgmbe’bs o Name

1. Give the oxidation numbers of all the elements in the following molecules and
jons:, o '
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2. Determine the oxidation number of the sulfur atom:
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3. Indicate the oxidation number of phosphorus in each of the following
compounds: I
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4. Give oxidation numbers for the underlined atoms in these molecules and ions:
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Oxidation Numbers Worksheet

Directigns: Use the Rules for Asszgnmg Oxidation Numbers to determme the oxidation number assigned

to each element in each of the glven chemlcal formulas.
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Rules for Assngnmg Ox:datlon Numbers

The oxidation number of any unoomblned element is 0. :
The oxidation number of a monatomic ion equals the charge on the ion.

- The more- electronegative element in a binary’ compound is assigned the number equal to the
- charge it would have if it were an ion. :

The oxidation number of fluorine in-a compound is always -1.
Qxygen has an oxidation number of -2 unless it is combined with F (when lt is +2), oritisina

peroxide (such as HxO, or Na;0,), when it is -1.
The oxidation state of hydrogen in most of its compounds is +1 unless it is combined wnth a

metal, in which case itis -1.
In compounds, the elements of groups 1and2 as well as aluminum have oxxdatlon numbers of -

+1, +2, and +3 respactively.”

~ The sum of the oxidation numbers of all atoms in a neutrals compound is 0.

The sum- of the ox1da‘non numbers of all atoms in a polyatomic ion equals the oharge of the ion.




